PHYS 629: Particle Physics                                        Spring 2007  

Homework #4                                                     Due Date: 3/27/07


1. Problem 5.2 
2. Taking 
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 to be the s channel process, verify that
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Show that the process is physically allowed provided 
[image: image3.wmf].
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  The physical region is shown shaded in the figure drawn in class.  Note that 
[image: image4.wmf])
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 correspond to forward(backward) scattering.
3. In 
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 near threshold, one can obviously not neglect the mass 

of the 
[image: image6.wmf]t

.  Working from 
[image: image7.wmf]2
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 and the exact spin-averaged amplitude
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Show that the total cross-section for 
[image: image9.wmf]t

 production is given by
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4. Problem 5.2 








_1234853564.unknown

_1234853682.unknown

_1234853754.unknown

_1234855130.unknown

_1234853851.unknown

_1234853728.unknown

_1234853633.unknown

_1234853394.unknown

_1234853444.unknown

_1234852857.unknown

